25. P =

27.

33.

35.

39.

41.

45.

47.

55.

o7.

Math 121 — Section 9.4 Solutions

(0,0), Q= (374)

—

V =PQ=(3-0,4—0)=(3,4) =31 +4j

P=(3,2),Q=(5,6)

VY =PO=(5-36-2)=(2,4) = 2i + 4j
YV =3i—4j = |V = 32+ (—4)2=5

V=i-j = V]| =12+ (-1)2=V2
vV =3i—-5j, w=—2i+3j

2V + 3W = 2(31 — 5j) + 3(—2i + 3j) = 6i — 10j — 61 + 9j = —

V - W = (3i—5j) — (~2i+3j) = 5i — §

|V — W|| = /52 + (—8)2 = /89

vV =5i
. v 51
V:T:_:l
[V
vV =3i—4j
R v 3i—4j 3. 4,
V=— e P
V1] 5 5 5
V|| =5, a=60°
5
YV = 5(cos 60°1 + sin 60°3) = 51 4 T\/_‘]

|| V|| = 14, a = 120°

V = 14(cos 120°1 + sin 120°) = —7i + 7V/3j



